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Session Two Learner Worksheet 2B – Cumulative Frequency 

 This table shows the wealth index of 571  

non-WCA group members in Ethiopia.  
 

 
 

 
 

 
 

 

 

 

Position of the 

lower quartile = 

 

Position of the 

median = 

 

Position of the upper quartile = 

Add the lower quartile and 

median positions together. 

 

n   is the total 

number of pieces of 

data. 

 

Cam 1: Cwblhewch y tabl isod drwy roi eich ‘cyfanswm hyd yn hyn’. 

Cam 2: Plotiwch y pwyntiau o’ch tabl i’r graff gan ddefnyddio ‘brig’ y cyfwng dosbarth. Lluniwch gromlin lefn i gysylltu’r pwyntiau. 

Cam 3: Defnyddiwch y cyfarwyddyd ar y gwaelod i ganfod lle mae’r canolrif, y chwartel isaf a’r chwartel uchaf. Defnyddiwch riwl i ddarllen 
ar draws i le mae’r rhif hwn, gan daro’r gromlin a thynnu llinell berpendicwlar i ddarllen y gwerth ar echelin-x. Dyma eich canolrif eich 
chwartel isaf/eich chwartel uchaf. Yma 571 yw n ond mae’n newid ar y ddwy dudalen nesaf. 

Cumulative frequency graph showing the wealth index of non-WCA members in Ethiopia 

Step 1: Complete the table below with your ‘running total’. 

Step 2: Plot the points from your table onto the graph using the ‘top’ of the class interval. Join your points up with a smooth curve. 

Step 3: Use the guidance at the bottom to find the position of the median, lower quartile and upper quartile. Use a ruler to read across at 
this number, hit the curve and draw a perpendicular line to read the value on the x axis. This is your median/lower quartile upper quartile.  
n  here is 571 but it changes on the next two pages. 

C
u

m
u

la
ti

ve
 F

re
q

u
en

cy
 

Wealth Index 



 

 

Session Two Learner Worksheet 2B – Cumulative Frequency  2 of 4 

Cumulative frequency graph showing the wealth index of WCA members in Mali 

 

The cumulative frequency graph below shows the wealth index for 352 WCA members in Mali. Use the graph to find 

the median value, lower quartile and upper quartile values and add this information to the table at the end of the  

worksheet. How does this compare to Ethiopia? (Use the formulae on page one to find out what positions to read 

across at. Using a ruler, draw a perpendicular line when you hit the curve. The lower quartile / median / upper 

quartile will be the value you read on the x axis) 

 

 

 

Wealth Index 
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The cumulative frequency graph below shows the wealth index for 364 non WCA members in Mali. Use the graph to 

find the median value, lower quartile and upper quartile values and add this information to the table at the end of the 

worksheet. How does this compare to Ethiopia? (Use the formulae on page one to find out what positions to read 

across at. Using a ruler, draw a perpendicular line when you hit the curve. The lower quartile / median / upper 

quartile will be the value you read on the x axis).  
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Cumulative frequency graph showing the wealth index of WCA members in Mali 
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WCA Members - Ethiopia 

Lower Quartile 26 

Median 35 

Upper Quartile 46 

IQR 20 
 

Non WCA Members - Ethiopia 

Lower Quartile 
 

Median 
 

Upper Quartile 
 

IQR 
 

 

 

 

WCA Members - Mali 

Lower Quartile 
 

Median 
 

Upper Quartile 
 

IQR 
 

 

Non WCA Members - Mali 

Lower Quartile 
 

Median 
 

Upper Quartile 
 

IQR 
 

 

 

 
 

 
 

 
 

 

Which of the four groups 
had the lowest wealth 

index on average? 
 

(lowest Median) 

Do you think being in the 
WCA gives you a higher 

wealth index? What 
problems might there be 

with drawing such a 
conclusion? 

 

Which of the four groups 
had the highest wealth 

index on average? 
 

(Greatest Median) 

Which of the four groups 
had the most consistent 

wealth index?  
(Smallest IQR) 


